C TR EE R E (BKE)



T T H LR &
@ @ ® @ ® ® @
BOKEfAR | RUKTFAR | ROKTEMRR | RWEAYZR | BERAFNGE | BERAVGE | BERFNE e
INZ
DIP ¢ 1004fi&% | DIP ¢ 10077 #% DIP ¢ 100 DIP ¢ 100 VP ¢ 1004 2 DIP ¢ 100 DIP ¢ 100 DIP ¢ 100 = # aky)
DP=0.9m DP=1.2m DP=1.3m DP=1.2m DP=1.3m DP=1.2m DP=1.3m DP=1.2m
WSO | W 39% | Wi 9% | W S0 | Wi 30% | i 9% | Wl 307 | i 9%
SRR G T t=5cm 289.6 7.5 5.1 5.4 224.4 8.0 71.0 4.0 615.0 620
FHIERR g 1
0.20BH t=10cmh 94.1 2.5 1.7 1.8 67.3 2.4 21.3 1.0 192.1 192
BRI T 0.20BH 91.3 3.1 2.3 2.6 91.1 3.0 28.8 1.3 223.5 220
SRR T (S +) 0.20BH 2.0 2.0 2
R T (R4 ) 0.20BH 57.7 2.2 1.7 69.3 2.2 21.9 0.9 155.9 160
A5 T fi-ticn 27.2 0.7 0.4 2.6 14.1 0.6 4.5 0.3 50.4 50
A5 T AS 4.7 0.1 0.1 0.1 3.4 0.1 1.1 0.1 9.7 10
FEYNARA
TrEEE T t=19cm 94.1 2.5 1.7 1.8 67.3 2.4 21.3 1.0 192.1 192
TR
LB T t=15cm 94.1 2.5 1.7 1.8 67.3 2.4 21.3 1.0 192.1 192
FAERET A
#JE T (H58) t=5cm PK3 94.1 2.5 1.7 1.8 67.3 2.4 21.3 1.0 192.1 192




IERAERTER

A

o X R
il nom nE | - &
O EKEAE HiE 39%  DiPg100fiE  0.90 144.79
© FEKEHER  HiE 398 piPeloofiz  1.20 3.77
©® FEAKEMER  HiE 398 piPeloofizk  1.30 2.56
@ AWrky7r  HE 397 DIP ¢ 100 1.30  1f&FT X 1.5m 1.50
® BEREME HE 39 VPeloofiz:  1.30 112.20
® PERREREE HE 39 DIP ¢ 100 1.20 4.00
@ BERERE HE 39 DIP ¢ 100 1.30 35.50
(ERElE HiE 397 DIP ¢ 100 1.20 1.00




T TEHEE
HE 3974
B A AT 3%

DIP ¢ 100mm DP=0.9m Afz%

BB DIP ¢ 100 HdmEdl 097 m
S, 0.06 m FERIEERE 063 m ¥4+
BIEUME 0.100 m B 0.19 m  FEKE
MR 0.118 m BAE 015 0 m B
AR JEHIE 0.65 m AS 0.05 m
PRHIIE 144.79 144.79 m
ARZERR BT T
t=>5cm 144.79 X 2 = 289.6 m
ERERRUE T
As t=10cmBL T 14479 X 0.65 = 94.1 nf
AR PR I T 144.79 X 0.65 X 0.970 91.3 i
WMET (4L
0.65 X 0.63 - 0.118 2
X r ~ 4) X 144.79 = 57.7 m®
Ay TEsETL) Feh
91.3 - 517 =+ 0.9 = 27.2 m®
AL T.(AS)
94.1 X 0.05 = 4.7 m®
TREET
FEAEPARA t=19cm 14479 X 0.65 = 94.1 o
RC-40
BT
FARFE A t=15cm 14479 X 0.65 = 94.1 nf
RM-40
#ET
FAEFRIIET A2 t=5cm 14479 X 0.65 = 94.1 o

PK—3




+TEHEE
HiE 394
BB AT B

DIP ¢ 100mm DP=1.2m Afi#%

BB DIP ¢ 100 FEyES 1.27 m
EliEERRUE 0.05 m FmieE 093 m  FAEL
BIFOEE 0.100 m B 019 m  FERm
EOME 0.118 m B 0.15 2m @
RS PRHIhE 0.65 m AS 0.05 m
PEHIAE 3.77 3.77
EfEERRCED T T
t=5cm 3.77 2 = 7.5
AR T
As t=10cmlL | 3.77 0.65 = 2.5
FEAR AR HI T
3.77 0.65 X 1.270 3.1
WERET (B4&+)
0.65 0.93 - 0.118 2
7 ~ 4) X 3.77 = 2.2
vy TERAET) St
3.1 2.2 - 0.9 = 0.7
AL T(AS)
2.5 0.05 = 0.1
TE T
HAEDAMER t=19cm 3.77 0.65 = 2.5
RC-40
LEREET
AR t=15cm 3.77 0.65 = 2.5
RM-40
FEL
FAEZRRIE 7 A3 t=Dbhcm 3.77 0.65 = 2.5

PK—3




+TEEE
HiiE 397
Bl KB A %

DIP ¢ 100mm DP=1.3m Af#X

TR DIP ¢ 100mm BEbIRE 137 m
SRR 0.0 m e 103 m RAET
BIEOME 0.100 m B 019 m R
AR 0.118 m A 015 m @K
RS JRHINE 0.65 m AS 0.05 m
PR E R 2.56 2.56
AR T
t=15cm 2.56 2 = 5.1
SRR HE T
As t=15cmPL T 2.56 0.65 = 1.7
HAs E I T
2.56 0.65 X 1.370 = 2.3
WRET (BE+)
0.65 1.03 - 0.118 2
r ~ 4) X 2.56 = 1.7
sy TEAT) A4t
2.3 1.7 - 0.9 = 0.4
¥ 4L T.(AS)
1.7 0.05 = 0.1
TRE R T
FAEYLIAMER t=19cm 2.56 0.65 = 1.7
RC-40
T
FERTIR t=15cm 2.56 0.65 = 1.7
RM-40
EI=HN
FAEBRIEE Y A3 t=b5cm 2.56 0.65 = 1.7

PK—3




+TEHEE
HE 397
AWK 7

DIP ¢ 100mm DP=1.2m

R R DIP ¢ 100 MRS 147 m
SR 0.05 m R 113 m R -
BIFO 0.100 m B 019 m @B
AR 0.118 m BAE 015 m  FEEE
FHE S RS 1.20 m AS 0.05 m
PRHI R 1.50 1.50
SRR T
t=5cm 1.50 2 + .20 X 2 = 5.4
EfiE R EUE T
As t=10cmPL 1.50 1.20 = 1.8
FE AR T
1.20 1.47 - 0.118 2
7 - 4 ) X 1.50 = 2.6
WERT (hiktgRE 1)
1.20 1.13 - 0.118 2
7 = 4 ) X 1.50 = 2.0
Ay T4 +) Skt
2.6 0.0 - 0.9 = 2.6
sehpiki B HE 070
¥ AL T.(AS)
1.8 0.05 = 0.1
T E A T
FAYIARA t=19cm 1.50 1.20 = 1.8
RC-40
LT
HARFERA t=15cm 1.50 1.20 = 1.8
RM-40
F=ET
HABRET 270 t=5cm 1.50 1.20 = 1.8

PK—3




T THEE
HiE 397
BERR B W

VP ¢ 100mm DP=1.3m (%

BT VP ¢ 100 BRI 137 m
SRR 0.056 m e 1.03 m RAET
BIEOME 0.100 m B 019 m R
AR 0.114 m WA 015 m @K
R JRHINE 0.60 m AS 0.05 m
PEHIAE & 112.2 112.2
AR T
t=5cm 112.20 X 2 = 224.4
SRR HE T
As t=10cmPL T 112.20 X 0.60 = 67.3
HAs E I T
0.60 X 1.37 - 0.114 2
X n ~ 4) X 112.20 = 91.1
WRET (BE+)
112.20 X  0.60 X 1.03 = 69.3
sy TEAT) A4t
91.1 69.3 = 0.9 = 14.1
¥ 4L T.(AS)
67.3 X 0.05 = 3.4
TRE R T
FEYSAE t=19cm 112.20 X 0.60 = 67.3
RC-40
T
FERTIR t=15cm 112.20 X 0.60 = 67.3
RM-40
EI=HN
FESRIEET 23 t=5cm 112.20 X 0.60 = 67.3

PK—3




T THEE
HiE 397
BERR B W

DIP ¢ 100mm DP=1.2m

TR DIP ¢ 100 FEARIRE 1.270 m
SRR 0.056 m R 0930 m AL
BIFOEE 0.100 m B 019 m R
AR 0.118 m WA 015 m @K
R JRHINE 0.60 m AS 0.05 m
PEHIAE & 4.00 4.00
EfidE RGBT T
t=15cm 4.00 2 = 8.0
Sl LR EEE T
As t=15cmPL T 4.00 0.60 = 2.4
HAs E I T
0.60 1.27 - 0.118 2
n ~ 4) X 4.00 = 3.0
WRET (BE+)
4.00 0.60 X 0.93 = 2.2
sy TEAT) A4t
3.0 2.2 - 0.9 = 0.6
¥ 4L T.(AS)
2.4 0.05 = 0.1
TRE R T
FAEYLIAMER t=19cm 4.00 0.60 = 2.4
RC-40
T
FERTIR t=15cm 4.00 0.60 = 2.4
RM-40
EI=HN
sk BT 23y t=5cm 4.00 0.60 = 2.4

PK—3




+TEHEE
HE 397

DIP ¢ 100mm DP=1.3m

B ERE DIP ¢ 100 FEbdmEE 1.370 m
SRR 005 m BEE 1.030 m R+
IO 0.100 m Bz 019 m  TRERE
AR 0.118 m BAE 015 m  FEEE
FHE S RHIE 060 m AS 0.05 m
PRHI R 35.50 35.50
SRR T
t=15cm 35.50 X 2 = 71.0
EfiE R EUE T
As t=15cmPL T 35.50 X 0.60 = 21.3
FE AR T
0.60 X 1.37 - 0.118 2
X 7 = 4 ) X 35.50 = 28.8
WERT (B4E+)
35.50 X 0.60 X 1.03 = 21.9
A TG4 1) Skt
28.8 - 219 =+ 0.9 = 4.5
Ly T.(AS)
21.3 X 0.05 = 1.1
T E A T
FAEYARA t=19cm 35.50 X 0.60 = 21.3
RC-40
LT
HARMMA t=15cm 35.50 X 0.60 = 21.3
RM-40
F=ET
HABRET 270 t=5cm 35.50 X 0.60 = 21.3

PK—3




+TEHEE
HE 397

B

DIP ¢ 100mm DP=1.2m

R R DIP ¢ 100 MR 132 m
SR 0.05 m BeEE 093 m AL
BIFO 0.100 m B 019 m @B
AR 0.118 m BAE 015 m  FEEE
FHE S RHIE 1.00 m AS 0.05 m
PRHI R 1.00 1.00
SRR T
t=5cm 1.00 X 4 = 4.0
EfiE R EUE T
As t=10cmPL 1.00 X 1.00 = 1.0
FE AR T
1.00 X 1.32 - 0.118 2
X p - 4 ) X 1.00 = 1.3
WERT (B4E+)
1.00 X 0.93 - 0.118 2
X 7 — 4 ) X 1.00 = 0.9
Ay T4 +) Skt
1.3 - 0.9 - 0.9 = 0.3
Ly T.(AS)
1.0 X 0.05 = 0.1
T E A T
FAYIARA t=19cm 1.00 X 1.00 = 1.0
RC-40
LT
HARMMA t=15cm 1.00 X 1.00 = 1.0
RM-40
F=ET
HABRET 270 t=5cm 1.00 X 1.00 = 1.0

PK—3







ALK EAMRE
GXJ& ¢ 100mm

w®OE L B 1% & | B 7
H A X T ¢ 100 148.4 m
BBk F W W T ¢ 100 23 i
% = T EE ¢ 100 35 M
% = €T RIZE ¢ 100 23 H
% = T PU>7 ¢ 100 4 u
% = T GUv7 ¢ 100 20 u
it 9 » & B L A71 ¢ 100 8 5
A ERE L A, 15 9 & T
ok B OB OB L N7) HnO 2 & T
#ook & E T N7 HA 1 s T
AN s S 675 6 5
by vy — MRy ) AR E T M35 3 1
AT = Hh vk FE L %k ¢ 100 2 i
RNWroKk Y 7 bk E L DIP ¢ 100 1 AT
w W or 7 — 7 L ¢ 100 197.6 m
W or vy — b T ¢ 100 146.5 m
BEax & Mk F B4t LT K%k DIP ¢ 100 2 M
ok B W W T DIP ¢ 100 6 =
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vires

I R

B
e TTOUA | e TTOUA | e
il W i i e —BTEE FHTE | e | e PR Gl I TS W | T
i & S : o !
75X 200 R e B sl ki
B N i 3 /4 | 221/2° 45° 111/4° | 221/2° 45° H300 H450 é;;j é;?gox é;;j é;“f; 6755150 | 754200 it 754200 75?00 B i HO ir‘
GX ¢ 100 DP=0.9m 24 4 1 1 4 1 1 3 3 1 2 1 2
GX $100 DP=1.2m 14 38 1 1
1 2 1 2
GX ¢ 100 DP=1.3m 2
it 24 14 38 4 0 2 0 1 5 1 3 0 1 0 3 3 1 2 1 2
. N . Jats o ENCIEN ENCTN
R WA | PoAFREE | V7 by AL gy | PEETERED e L P e Iy P
e WA | e | mme | ow | mws gy | FESER ser | s | aus | PE e L O T
R 500X 690 " 500 X 690 " ZHFL i : I DIPA VP DIP ¢ 100
GX ¢ 100 DP=0.9m 2 1 2 4 4 8 21 15 4 16 1
GX $100 DP=1.2 1 1 1 3 1 1 )
° - 2 1 9 10% | 1465
GX ¢ 100 DP=1.3m 1 1 1 1
it 2 1 2 0 0 0 4 4 9 23 17 4 20 1 2 0 0 1
EBIF | AtsoriE | WAR | PEKE | - ., ZH=TIL | A=TIb BT T
e S Sy ey 7TV S P ak RWAYZE | sy e L BERRE G007
R O AT, ot | mw | www | Pis | ey —EE el il e T i) - T eme | VR | EWE | B
NS A, 15 NS A7 75 | Rk DIP ¢ 100 ik VP DIP
GX ¢ 100 DP=0.9m 142.105 8 6 0 1
197.6
GX ¢ 100 DP=1.2m 3.769 23 35 23 4 20 0 0 0 1 2
9 2 1 6 3 1 146.5
GX ¢ 100 DP=1.3m 2.560 0 0 0 0 2 4
it 148.434 23 35 23 4 20 8 6 0 2 197.6 2 0 6




MRS

GXJ% ¢ 100mm i Hl T R 144.785
DP=0.9m AR R 142.105

# ¥t Bl & MEHER & HE 53

=R & GX& 4.000 24 96.000
H 4] (=4 GX% 2.660 1 2.660
H ] & GX%& 1.430 1 1.430
H 4] (=4 GX% 0.970 1 0.970
H ] & GX%& 2.570 1 2.570
H 4] (=4 GX% 2.420 1 2.420
H ] & GX%& 3.050 1 3.050
H 4] (=4 GX% 1.000 2 2.000
H ] & GX%& 2.000 1 2.000
o g () GX%& 3.220 1 3.220
oo () GX%& 3.270 1 3.270
o g () GX%& 1.630 1 1.630
o ouE (P E ) GX%& 2.320 1 2.320
o g (A E) GX%& 1.000 4 4.000
o ouoE P E ) GX%& 1.340 1 1.340
o g () GX%& 0.960 1 0.960
o ouE (P E ) GX%& 3.490 1 3.490
o g (A E) GX%& 1.910 1 1.910
i & 118 1/4 0.360 4 1.440
fh (=4 45 0.420 1 0.420
] % i & 22 1/2 0.120 1 0.120
L] = il =4 45 0.160 4 0.640
Z ¥ & | ¢100XxH450 0.780 1 0.780
F & T 5 & | $100X¢75 0.440 3 1.320




MRS

GXJ% ¢ 100mm i Hl T R 144.785
DP=0.9m AR R 142.105
# Bl Bl & MEHER & HE 53
A VA ¢ 75X 150L 3
i fE wo| DM I
Az ame R | 000N 2
# T X H Ok & B 1
AT L AR A kR HQO 2
1H X ES # | ¢500X690H 2 (EETe)
HE 7K S f# | ¢500X690H 1 (FET)
ik i ¢ 100 0.200 2 0.400
Y 7 h v — v AR 8l S | AL ¢ 100 0.490 4 1.960
V7 Ny — AR g R | Wi ¢ 100 0.180 4 0.720
8 # & - B B |[H=510~690mm| M i 8
- % T 3 & | $100X ¢100 0.590 1 0.590
% = gl i HIEE 21
% = gl TS T4 0.029 15 0.435
£ = gl il PUL 0.180 4 0.720
% = gl i | GULZ ¢ 100 16
e Es #§ | DIPMH ¢ 100 1




MRS

GXJ% ¢ 100mm i Hl T R 3.769
DP=1.2m AR R 3.769
# ¥t Bl & MEHER & HE 53

H ] & GX% 2.430 1 2.430

fh (=4 45 0.420 1 0.420

] % i & 45% 0.160 1 0.160

Z T % | ¢100%300H 0.730 1 0.730
£ & il il RIGE 1

% = gl i T4 0.029 1 0.029
£ = gl il GU>” 3
H 2 3] DIP ¢ 100 1
2 T, D A N DIPH ¢ 100 1
Tt o # & £ |H=510~690mm|| #HHH fl 1




MRS

GXJ% ¢ 100mm A E & 2.560
DP=1.3m AT R E & 2.560
Lz Bl H & MEHE & ¥ = ik &

H 4l & GX& 1.000 1 1.000

Z gE & | ¢100xH450 0.780 2 1.560
P2 & 0 i RIGE 1
% = gl i AT 1
152 = il fi GU» 7 1
mo#h kb M W | ATE ¢ 100 1




L O = GXJZ ¢ 100mm L=4.0m/7A<
FAEA% 1 29 | 2 Vocd il
1 2.430 1.000 Z 0.570 2
2 2.660 1.000 Z 0.340
3 1.430 Z (™) 2.570 1
4 0.970 0.960 Z 2.070 2
5 1.000 1.630 Z 1.370 2
6 2.570 1.000 Z 0.430 2
7 3.220 A 0.780 1
8 1.000 1.000 Z 2.000 2
9 3.490 H 0.510 1
10 2.000 1.910 Z 0.090 2
11 1.000 2.320 Z 0.680 2
12 3.050 Z (™) 0.950 1
13 2.420 1.340 Z 0.240 2
14 3.270 H 0.730 1
7 23




g —MRHR

=3 | ¢ 100mm DP=0.9m| ¢ 100mm DP=1.2m| ¢ 100mm DP=1.3m #
EATRRIE R 142.105 3.769 2.56
EPRES-§ 4 3 0 0

0.664 0.664 0.664
Mo E| 140.113] 3.769) 2.56] 0] 0] 146.442 |
[ &t ] 140.1 | 3.8 | 2.6 | 0.0 | 0.0 146.5 |
R ERT — T EHE
=4 & ¢ 100mm Z
1= (=3 24
o] (g 14
Mok R 197.6 197.6
1ARK®H7ZY 5.2
[ &t ] 9.88 0 0 0 0 10|




R AR RE

M4 i HE =<k
HIVPEEE ¢ 50mm 1l K
HIVPT LR @ 50mm 3] 1@
HI&BANILT Y 7y b @ 50mm 41 1&
R—ILN L7 @ 50mm 1 &
FEVTILIR @ 65mm X ¢ 50mm 1| 18
HAKET X7 2 — 1 1@
WNILT Ry 7 R ¢ 150 $kEl 1 1@

NILT Ry 7R $ 200 PVCH! 1 1@




TRMEE

No. T8 R e T @ Fr ik EIER(M) | &RERA) |ZXEMER(M)| ERasH(m) BE() &
1 7L EIRTEE H=2.0 1 1.5 0.167
=t 0.167
HES : 28/B  (Rik/NIL )
ERRRMFAR | &R W=0.333m H=2.00m t=0.04m
EfR L |W=0.115m H=2.00m t=0.08m

e

L= 0.960 m




it = &



WMEEE

VP ¢ 100mm
w®oOE L B 1% B | H 7
EE D LT HEAL VP ¢ 100 112.2 m
e £ & b W T VP ¢ 100 32.0 u
o= ' OE R & 4t L=25kmLL F [
W o= B WL 4 % 1.5 m




WMEEE

DIP ¢ 100mm
w®oOE L B 1% B | H 7
EE D LT HEAL DIP ¢ 100 39.5 m
% ' 4 W L DIP ¢ 100 11 =
m = B #E #k # 4t L=25kmLL F [
= B L 5 # AT T T 0.6 t
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+ T % &= & 5 F
@ @
ok ;Z}iféiﬁ
S At | mw
¢ 50~ ¢ 20| ¢ 50~ ¢ 20
HE 39% | HE 397
EAERR Y)W T t=hcm 74.8 38.0 | 112.8 110
sptEpE R | |
0.20BH t=10cmlL T 22.4 19.0 41.4 41
FERR I T 0.20BH 19.1 16.1 35.2 40
P T NI 3.9 3.9 4
HET (%R 0.20BH 5.7 4.9 10.6 11
MET (34 1) 0.20BH 5.6 4.8 10.4 10
HMET (34 1) AN 3.9 3.9 4
sy T T4 12.9 10.8 23.7 24
¥y 1T AS 1.1 1.0 2.1 2
BaAEAE L L
INENS AN t=19cm 22.4 19.0 41.4 41
EIRESY VA 7 SE I N R R R
s T t=15cm 22.4 19.0 41.4 41
BAeEsRET A2 | |
F£E L (HH) t=5cm PK3 22.4 19.0 41.4 41




IERAERTER

&5 T ff VA R & it

M7 +40 o
©) K HiE HIVP ¢ 50~ ¢ 20 0.90 56.4m- (191% F1 X 1m) 37.40
@ HEAKE B HIjH HVPos0~620  0.90  19f&FT X 1.0m 19.00




+ TEEE
g 397

K

HIVP ¢ 20~ ¢ 50mm DP=0.9m

ASEH] D RL (1 FTH720) 1k (0.5%1.0%0.9=0.45m1)

@ 71k (0.5%1.0%0.3=0.1513)
RERE AR HIVP ¢ 50~ ¢ 20 Ml  0.85 m
A R 0.05 m MR 0.26 m Rk B -
BIEOME 0.060 m MR 025 m  FEL
R M EHME 0.060 m BAE 019 m FEKRE
PR g 0.60 m W 015 m  EEps
AS 0.05 m
PEHIIE 37.40 37.4
SHEE R T
t=>5cm 37.40 2 = 74.8
BEE R T
As t=10cmBL T 37.40 0.60 = 22.4
PR T
37.40 0.60 X 0.85 = 19.1
AJJHEEI T e AT &) &P
0.45 7 + 0.15 X 5 = 3.9
HMET (&%E+)
0.60 0.26 - 0.060 2
7 = 4 ) X 37.40 = 5.7
HMET (84+)
37.40 0.60 X 0.25 = 5.6
ANAMERET (41)
3.9
A T4 ) F i+
19.1 5.6 - 0.9 = 12.9
1455 T(AS)
22.4 0.05 = 1.1
T8 i
FAYARES t=19cm 37.40 0.60 = 22.4
RC-40
LT
BRIV t=15cm 37.40 0.60 = 22.4
RM-40
FE T
FEBRIET 222 t=5cm 37.40 0.60 = 22.4
PK—3




+TEHEE
HE 397
FRKE Bt

HIVP ¢ 20~50mm 19 it

RRE AR HIVP ¢ 20~ ¢ 50 HEmdmE 085 m
EZENRE 0.05 m iR 026 m RR B+
IO 0.050 m MR 025 m Fe 1
AR EAME 0.060 m ¥AE 019 m B
A Fil .00 m BAE 015 2m L@
AS 0.05 m
PRHIAE R 19.00 19.00 m
SRR T
t=5cm 19.00 2 38.0 m
Sl R U T
As t=10cmPL T 19.00 1.00 = 19.0 i
FEAS AR I T
1.00 0.85 - 0.060 2
7 ! X 19.00 = 16.1 m®
PERET (RekteRE+)
1.00 0.26 - 0.060 2
7 ! X 19.00 = 49 m®
MRET (AT
19.00 1.00 X 0.25 = 48 m®
Ay TRAT) Fg
16.1 4.8 - 0.9 = 10.8 m®
AL T(AS)
19.0 0.05 = 1.0 m®
TlEKET
FHAYRARS t=19cm 19.00 1.00 = 19.0 i
RC-40
LA T
FHARIFS t=15cm 19.00 1.00 = 19.0 i
RM-40
FET
PRI 2 t=5cm 19.00 1.00 = 19.0 i

PK—3







faKREMRE
% o® T B & O Hf7
by =L 8 A 38 L ¢ 13 4.0 m
HEE A =V E MR L ¢ 20 53.0 m
by =L B A 38 L ¢ 25 9.0 m
Ly =L B A 38 L ¢ 30 3.8 m
by =L B A 38 L ¢ 50 8.6 m
PR L4 K K AT DIP ¢ 100X ¢ 20 14 & AT
PR L4 K KA T DIP ¢ 100X ¢ 25 2 & AT
PR L4 K KA T DIP ¢ 100X ¢ 30 1 & AT
PR L4 K KA T DIP ¢ 100X ¢ 50 2 & AT
= 7 Jifd £ T ¢ 20~ ¢ 50 19 T
NI/ S S SR & ¢ 20 6 &
NI/ S S SR & ¢ 25 1 & T
kxR OB O T ¢ 50 1 ET
Ok @ W T ¢ 13 4 ET
® Ok & B O I ¢ 25 1 ET
oK B w ® L ¢ 13 3 ET
oK H w ® L ¢ 20 10 ET
oK E w ® L ¢ 25 1 &
¥ M ®r v — F T 56.4 m




MR



BERR et H— Ik ET ZAEDHET A—H—FT
ey T R R T
12 0 2 5
613 20 25 30
(Hl\fﬁ%@fw S 100 ] 53.00 | % 9.00 | 380
NETIER) 010 050
"""" 000 | se0 [T
Fa/KM R F R
MR ik B LEtia
H I A% L S Tt SRRt e 4 rz/ozk
O g0 12 46.0
Y 2 8.0
S e 1T 3
Y O o 0
Y e g T 7
H 1 Y 7y b e e e 7
S R 12T
Y A 3 T
S R o
Y R o
R Y
L T T e T et RL G 7
S Y 98
Y R g
S R o
Y R o
R e o




FERPT MR R R

MEH Hikg & HAZ
* Y > 7 """-"""""?t;-lé """""""""""""" P 7
Y S T
Y S I YT
S R I o
Y R I o
Y R I S
_________________________________________________________ s
® v 4w b ¢20X ¢ 13 5
""""""" PR I I S
""""""" PR R I
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HAREME 5

N N 4R
s y Fekie | (e | HIVPE) | HIVPAE) | ook mamer | w7 | Revror | 2250 | T8 | akie | QS8 T mike yi%i%» SViE | mh
Il SR Ik
(X -4 & AR XFRAR | % | BB m A2 | m [SEES m AR | % | PR | M | RER | sk | xR | fE | R | s | ngR | EE | R | B | RAR | B | PR | sk | g | EEk | ngR | e | neR | sk | M
1 13 F=h4—%T 100 X 20 1 20 | 3.0 20 | 1.0 20 4.0 20 2 20 6 20%13 | 1 20 1 20 1 20 1
13 | 1.0 13 1.0 13 1 13 2 13 1 13 2 13 1 13 1
2 13 BER% 100 X 50 1 50 | 3.0 50 3.0 13 1 50 1
3 25 BER% 100X 25 1 25 | 3.0 25 3.0 25 1 25 1
4 20 BER% 100 X 20 1 20 | 1.0 20 1.0 20 1 20 1
5 13 F=h4—%T 100 % 20 1 20 | 3.0 20 | 10.0 20 13.0 20 2 20 6 20%13 | 1 20 1 20 1 20 1
13 | 1.0 13 1.0 13 1 13 2 13 1 13 2 13 1 13 1
6 20 BER% 100 X 20 1 20 | 1.0 20 1.0 20 1 20 1
7 25 F=h—ET 100X 25 1 25 | 3.0 25 | 2.0 25 5.0 25 3 25 8 25 1 25 2 25 1 25 1 25 1 25 1 25 1
8 20 BER% 100 X 30 1 30 | 3.0 30 3.0 20 1 30 1
9 20 IWE% 100 % 50 1 50 | 4.0 50 4.0 50 1 50 1 50 1 50 1 2 1 1
10 20 BER% 100 X 20 1 20 | 3.0 20 3.0 20 1 20 1
11 20 BER% 100 X 20 1 20 | 3.0 20 3.0 20 1 20 1
12 13 F=h4—ET 100 X 20 1 20 | 1.0 20 | 1.0 20 2.0 20 2 20 6 20%13 | 1 20 1 20 1 20 1
13 | 1.0 13 1.0 13 1 13 2 13 1 13 2 13 1 13 1
13 13 ZAEHET 100 X 20 1 20 | 3.0 20 | 1.0 20 4.0 20 2 20 2 20 1 20 1 20 1 20 1
14 13 LD ET 100 % 20 1 20 | 1.0 20 | 2.0 20 3.0 20 2 20 2 20%13 | 1 20 1 20 1 20 1
13 1
15 20 BER% 100 X 20 1 20 | 3.0 20 3.0 20 1 20 1
16 20 BER% 100 X 20 1 20 | 1.0 20 1.0 20 1 20 1
17 20 BER% 100 X 20 1 20 | 3.0 20 3.0 20 1 20 1
18 20 BER% 100 X 20 1 20 | 3.0 20 3.0 20 1 20 1
19 13 F=h—ET 100 X 20 1 20 | 1.0 20 | 1.0 20 2.0 20 2 20 6 20%13 | 1 20 1 20 1 20 1
13 | 1.0 13 1.0 13 1 13 2 13 1 13 2 13 1 13 1
HIVPAES: (k) | 20 16.0
7?§é§g}ﬁ ¢£g; 10.4 100 X 20 14 13 | 4.0 13 4.0 13 | 4 13| 8 13| 6 |20x13| 5 13| 8 13 | 4 13 | 4 2| 1
LT R HijE 56.4 100X 25 2 20 | 30.0 | 20 | 16.0 20 46.0 20 | 12 | 20 | 28 | 20 | 10 |25%13| 0 20 | o 20 | 14 | 20 | 6 |[500L| 7 20 | 0 20 | 0 o] oo
BE R 12 100 X 30 1 25 | 6.0 25 | 2.0 25 8.0 25 | 3 25 | 8 25 | 2 |25%20| 0 25 | 2 25 | 2 25 | 1 25 | 1 25 | 1 W [0
B—lb A ETHE | 0 100 X 40 0 30 | 3.0 30 | 0.0 30 3.0 30 | o 30 | 0 30 | 0 [30%x25] 0 30 | o 30 | 1 30 | 0 30 | 0
CAEDETHE 2 100 X 50 2 40 | 0.0 40 | 0.0 40 0.0 40 | o 40 | o 40 | 0 |50%x40 | © 40 | o 40 | o 40 | o 0 | o 30 | 0
Ah—F YR 5 50 | 7.0 50 | 0.0 50 7.0 50 | 1 50 | 0 50 | 1 50 | 0 50 | 2 50 | 0 50 | 0 0 | o
FaRE R 1T 13 3T 50 1
FaRE R 1T 20 10§37
FaRE R 1T 25 1T
FaRE R 1T 30 Of&i FT
FaRE R 1T 40 Of&i FT
FRKE T L 50 Ofi pir B 19 7 46.0 | 220 7 68.0 # 20 # 44 # 19 7 5 # 10 # 19 # 7 # 7 # 5 i 5 i 1 i 1 1




7 277\ NI B

3cm 0.078 0.0000
4cm 0.104 0.0000
S5cm 0.130 727.8 0.9461
bcm 0.152 0.0000
Tcm 0.174 0.0000
10cm 0.240 0.0000
1lcm 0.262 0.0000
15cm 0.350 0.0000
20cm 0.460 0.0000
25cm 0.570 0.0000
26cm 0.592 0.0000
30cm 0.680 0.0000
i 727.8 0.9461

EXe 0.95




